Additional file 3 Poisson regression analysis (stepwise)

fm pois <- glm(ninf ~ Gender + agegrp + Year + Mon + SLA, family =
poisson(link ="log"), offset= log(popSLA+ 0.5), data = Tab2)

> dropl (fm pois, test="Chisq")

Single term deletions

Model:
ninf ~ agegrp + Gender + Year + SLA + Mon

Df Deviance AIC LRT Pr (>Chi)
<none> 12246 15786
agegrp 16 12548 16056 302.4 <2e-16 **x*
Gender 1 12249 15787 3.8 0.05063
Year 16 16418 19926 4172.1 <2e-16 ***
SLA 42 15234 18690 2988.5 <2e-16 ***
Mon 11 14203 17721 1957.7 <2e-16 ***
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